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: With reference to the parent function f(x) = 2%, the
4
3

T —tag

corresponding figure, Express the function

f) =21 | d| f(x)=2* | c| f()=2"+1 | b| f(x)=2*—1 | a

AN e IS s f(x) = 4% 291 A e

From the parent function f(x) = 4%, the figure
: J expresses the function

11,45 N g L 855 2

fx)=4* |d| f(x)=47" | ¢c| f(x) =2(4)" | b| f(x) =-2(4)* | a

Ssdx s 2% =256 Ay Al da

Solving equation exponential 2* = 256 is equal to

3
8 d 7 c 6 b 5 a
Gsbd x s 52T = 125 Ly Al da
Solving equation exponential 2* = 256 is equal to
4
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What is the value of x satisfying the equation 7*"1 + 7 = 8? c
2 d 0 C 1 b -1 a
il Cusy 4204 i L st g LB e (g )lad g g e (8 Jlyy 100000 dlae 2ea) il
O i il i i) ) i 10 s @ siall SIS glaall oS et JS Ll Gl 5 G 2l Y
Ahmed invested 100,000 riyals in a commercial project with an expected
annual profit of 4.2%, so that the profits are added to the capital every month 6
How much is the total amount expected after 10 years to the nearest two
decimal places
A=P(1+-)m
n
151535.66 | d 151973.63 | ¢ 230959.84 | b 152084.59 | a
s logs 27 ded
The value of log; 27 is equal to 7
5 d 4 c 3 b 2 a
" 1.
g5 log, o
8
The value of log, 6—14 is equal to
-7 d -6 C -5 b -4 a
¢ logyp 0.001 4esd
The value of log,, 0.001 is equal to 9
3 d -4 c -3 b -2 a
10
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g logyo(—10)

The value of The value of log;, 0.001 is equal to

is equal to
ra e d -10 c 10 b 1 a
undefined
— A1) Jiay Jiaall JL)
- (5,1) The corresponding figure represents the function
T
HL 1) * 11
A ]
log, x d log, 5 c logs 5 b log: x a

MJLGJH\EJ}-A\GSISE 103 = 1000 :\7}«-»\)“ 3‘)‘5.-43\

The exponential form 103 = 1000 is equivalent to the logarithmic form 12
log; 10 = 1000 | d | logio3 = 1000 | ¢ | log;, 1000 =3 | b| log; 1000 =10 | 3
Al 3 ) pall ¢ ASS Jog, 8 = 3 Ay e dlll 5 ) puall

Logarithmic form log, 8 = 3 is equivalent to the exponential form 13
23 =8 d 32=38 c 8% = 64 b 32=9 a
logg 16 = x baall & x 4ed & L

What is the value of x in the equation logg 16 = x 14
2| d 4 c 3 b 1 a

3 4

@i logs 49 4 &l dadll i Jog, 7 & 1.7712 <l

15

Iflog; 7 = 1.7712 then approximate log; 49 is equal

53136 | d 0.7712 | ¢ 3.5424 | b 3.7712 | a
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The value of logs /36 is equal to 16
z d 1 c 3 b 1 a
3 3 2
£S5 3log, x + 5log, y sokall
The statement 3log, x + 5log, y is equivalent 17
logs x2y> | d| log,x3y> | c¢| 8log,(x+y) | b x3 a
log, —
y
¢SS 4]og, x — 5log, y kel
The statement 4 log, x — 5log, y is equivalent 18
log, x2y> | d| log,x*y5 | ¢| —log,(x —y) | b x* a
log, —
y
2logs 12 —logs 8 — 2logs 3 ded L
What is the value of 2log: 12 —log: 8 — 2log: 3 19
1| d logs 3 c logs 0.5 b logs 2 a
G x 2 loge x =4 daadll Ja
: : 20
Solve the equation logsx = 4 is x equals
25| d 1225 | ¢ 625 | b 125 | a
gswd x s logiox = —3 Al Ja
Solve the equation log;ox = —3is x equals 21
0.0001 | d 0.001| c 001 b 01| a




Exponential and logarithmic functions

14 ol yie gl Lol

doatgy e sllg L) JIgt - ALY Bl

s log,(x? —4) = log, 3x skl Ja

Solve the equation log,(x? — 4) = log, 3x is x equals 22
4 d 2 c -1 b -2 a
» 3log, x =log, 8 4l Ja
: : 23
Solve the equation 3log, x = log, 8 is x equals
64 d 3 C 2 b 8 a
4 e W81 4 0 BY Jog 7 ded
. 28
The value of log 7to 4 decimal places
1.0686 d 0.7521 c 0.8451 b 0.8459 a
s QY3 yde e Y 3% = 15 Al Ja
Solve the equation 3* = 15 to the nearest ten thousandth 29
2.4650 d 0.6990 c 2.5411 b 0.4057 a
log, 16 —log, x = log, 8 iladll s W
30
d c 2| b 1 a
1. .
— Lo
log, pyiiaa a1
3 d c —1 b -3 a
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